H & 0l & AHS B Ml A

20233 =0lat S22 0II=SESH M

SN OISR D
M JIZMESBE(AMEEX /I ZHEER)
chel: ol230i)|2 22 (ARB0II 2= H) (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fe=X 1,267,571 1,230,717 36,854
= 127,376
== 31,845
[Ea 1,108,350
INEZMEEH(AMSSX /IS EH) 1,256,571 1,182,775 73,796
= 127,376
< 31,845
= 1,097,350
AesHlIs2e(A=2SHIISSERA) 1,256,571 1,182,775 73,796
= 127,376
== 31,845
o 1,097,350
IZSHAXHHBLEX (B30l S) 147,017 167,986 A20,969
= 117,613
= 29,404
307 lztol & 147,017 167,986 220,969
= 117,613
== 29,404
NIEEEEET] 147,017 167,986 20,969
09z U PEHI(E2201)
147,017 ,000& 147,017
= 117,613
S 29,404
Slexs0 dzHl & =RES 1,097,350 1,001,789 95,561
308 XXM SOIH 1,097,350 1,001,789 95,561
07 X2 EE2 1,097,350 1,001,789 95,561
OEEEIpEI=  EE!
1,097,350,000& 1,007,350
220 MXHHBLEX(HEZHI) 12,204 13,000 VAVASS
= 9,763
< 2,441
201 er23| 9,204 7,041 2,163
= 7,363
= 1,841
01 At 2|l 9,204 7,041 2,163
SIIEIRS=1[ 8,624
-NSBE U 220 BESE 72
8.,624,000& 8,624
2 6.8%9
= 1,725
o2gay 280
—o220IAoSIAS BAL
280,000& 280
2 024




A ==X
B | EMBLT (A =R/ ZME D)
chel: ol230i)|2 22 (ARB0II 2= H) (SHol: )
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 56
ORI W=H| 300
-Sl2= 022t S =
300,000& 300
= 240
= 60
202 o4t 3,000 5,959 A2,959
= 2,400
& 600
01 =LHO4 L] 3,000 5,959 A2,959
O 2=HYRFA 3,000,000 3,000
= 2,400
& 600
MEES(Fo=XH)(BAH/BHAAZ) 11,000 0 11,000
BEXE(AZS0II2SE3IH) 11,000 0 11,000
BREIE(A=Z20II25EH) 11,000 0 11,000
802 gtet=JIE 11,000 0 11,000
03 JIEtetet= s 11,000 0 11,000
Q20229 22280 RH0IS= S Bte
11,000,000 11,000




